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SECTION - I (General Knowledge & Aptitude)

1. The landmass of which of the following continents is the least ?

A) Africa B) Australia
Y. GicAlerdeh! Hald SIel TS hIvT ?

A) JTHIRI B) sffegira
2. James Watt invented

A) Diving bell

C) Hot air balloon
R. ST e+ I I ATIAT ¢

A) TIITEET IHE (SRIfeRT Sie)

C) TRH ol B

3. Arjuna Award is given for

C) Asia D) Europe

C) 3fsmEn D) gd

B) Steam boat

D) Rotary steam engine

B) aThatHldE
D) Ut feen s=ia

A) Outstanding service in emergency

B) Outstanding bravery on battlefield

C) Outstanding performance in sports

D) Excellent service to slum dwellers

3. S TR T o ST

A) AT TR SgE- gad]
B) gl ST 1a YLAETa!

C) TaMid IeciE 1 M TRIETS!

D) SueuganReEriaTdt wief M Heaeee

. Who is the writer of ‘Swamy and Friends’ ?

A) Munshi Premchand
C) Max Muller

B) Raman
D) R. K. Narayan

¥. ‘Swamy and Friends’ I1 J&dehT= ©i@eh <hI0T ¢

A) T I9=g
C) Ha¥ Hooll

B) THU
D) 3. &. TEVH
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. INTERPOL means

A) International Political Conference

B) International Criminal Police Organisation
C) International Association of Police Officers
D) None of these

. 3 TRV T 7

INEESINERRINEET AR

B) 3eAIHa fhfter Tiefte sTiorHrEeH

C) 3R STHTETIA 3T7% oA 19 ST

D) JTshY 1ol AT

Rayon is chemically

A) a cellulose  B) a pectin C) a glucose D) an amylase
. W T THRHAT Qe IeTishl ShIvTdT JehR 3T 7

A) TFAS B) TN C) qHIS D) UHicE

. A Siphon will fail to work if

A) the densities of the liquid in the two vessels are equal

B) the level of the liquid in the two vessels are at the same height
C) both its limbs are of unequal length

D) the temperature of the liquids in the two vessels are the same

. “Siphon’ ST AT AR AT ST

A) TH TTemE SaTe a1 THH 3 @
B) a9 wyieameiar gare 3= ARl 318 ™
C) 3! 91 STHTH AT =T ST X

D) 3 Wieameia ST auHH TRE 378d 0

. Oil rises up the wick in a lamp. The principle involves

A) the diffusion of oil through the wick
B) the liquid state of oil

C) capillary action phenomenon

D) volatility of oil

. AT femed, Od ST YT SR SeUATETS! @I [cTuehl shivld d HHTIESS 37T ¢

A) IT HEA qeTTel ATET B) delTe 59 STIET
C) HITeRyoT feham D) delre STfEerar
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9. Rainbow is due to

A) absorption of sunlight in minute water droplets

B) diffusion of sunlight through water droplets

C) ionisation of water deposits

D) refraction and reflection of sunlight by water droplets
%. SEUT A AT Eral

A) TTUTAT SeTHE GHSIRTRT ST ST

B) UTOAT=AT SATHE G TehTeT ST

C) Ui} USRI A

D) T eTes GATERTRIT STaadH ST diadH

10. The nucleus of a hydrogen atom consists of

A) 1 proton only B) 1 proton + 2 neutron

C) 1 neutron only D) 1 electron only
%0. BEGISH T[T hETHE 31T,

A) HdB 1 e[ B) 1 WIeH +2 =g

C) %hae 1 g D) 9 | TiaeH
11. Tippu Sultan was the ruler of

A) Hyderabad B) Madurai C) Mysore D) Vijayanagar
2. Rggaam___ Jefild o=

A) THETR B) W C) =g D) fasRAR
12. The member of Rajya Sabha is elected for a term of

A) 2 years B) 4 years

C) 5 years D) 6 years
2. TsoavT e fagwemadt_ oT®.

INEEL B) ¥ ¥

C) uad D) &3

Clerk/Steno/Stenotypist



33

13.

g3.

14.

2¥.

15.

4.

16.

¢&.

17.

2.

6- | AFVR

Devaluation of currency causes
A) No change in domestic prices
B) Fall in domestic prices
C) Increase in domestic prices
D) Variable domestic prices
5Tk T Yob Wiefiet Jehl hIvre afoms g ?
A) T =T R e e seet B ATt
B) ) = s e 8
C) Tt Feg=a fohwe v ame g
D) =} st b 1fesr (st /<) 2t

The Yarlung Zangbo river, in India, is known as

A) Ganga B) Indus C) Brahmaputra D) Mahanadi
TRATHES AR SIS ASIAT 1l FEUTT ¢

A) T B) 339 C) SEg D) #ewdt
Which country has the largest coast line ?

A) Canada B) Australia C) USA. D) India
IV QITTAT Fatd HIST a5 fohmy o1Te 7

A) TS B) stiefera C) J.uH.T. D) 9Rd

Three of the following are alike in a certain way. Which one is not like the other three ?
A) Boy B) Dog C) Bull D) Bird

Qe STRITd Ueh 16¢ THM ATal. AT THHM eg 3lesdl.
A) Term B) T C) I D) uaft

In a certain code ‘MEDICAL’ is written as ‘LACIDEM’. How is ‘TABLE’ written in that
code ?

A) EABLT B) ELBAT C) TELBA D) TLBAE
TETET ShigHs ‘MEDICAL’ 3158 ‘LACIDEM’ 3181 feTeTeT, a® “TABLE’ BT 316¢ & fetfeat

e ?

A) EABLT B) ELBAT C) TELBA D) TLBAE
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18. Which of the following word comes third in the order in a dictionary ?

A) Obsess B) Obstruct C) Obtrude D) Obtain
9¢. WIATAUh] ShIvTdT o8 YTeeHUEHEY o I9=3T SHHThTeR TR i ¢

A) Obsess B) Obstruct

C) Obtrude D) Obtain
19. What is the next number in the series — 18, 10, 6, 4, ?

A) 8 B) 6 O 3 D) 5
9R. 18,10, 6, 4, ? AT JEHE TSI 7 1 IS ¢

A) 8 B) 6 O 3 D) 5
20. What continues the series — AOZ, BOY, COX, DOW, ?

A) EOX B) FPY C) EVO D) EOV
R0. T @A & HM AR - AOZ, BOY, COX, DOW, ?

A) EOX B) FPY C) EVO D) EOV

21. Hitler’s Party that came into power in 1933 was known as
A) Labour Party B) Nazi Party  C) Ku-Klux-Klan D) Democratic Party

9. 2233 AY Ucddl ATcied] feeeit Ir=at Ureia =1a Wietiel Yehl shivid 3712 7
A) AR I B) ettt
C) PR —FTH D) SHIhIh Iref

22. Name of the India’s first satellite
A) Aryabhatta B) Bhaskaral  C) Bhaskara II D) Albert Einstein
Q. YRATHT AT HedTsed A1a

A) Irlvee B) 9 I C) 9= 11 D) 3T AT
23. The distance between two wickets on a cricket pitch is
A) 18 yards B) 20 yards C) 22 yards D) 24 yards
R3. fohohe Tomr aftet g ke mefiet oTaw ferelt orara 7
A) 18 It B) 20 I C) 2291 D) 24 918
24. Tajmabhal is situated on river.
A) Gomti B) Yamuna C) Narmada D) Ganga
R¥. qIHEd T TR TEAT TR,
A) Tt B) I C) wHer D) T
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25.

4.

26.

R&.

27.

L.

28.

R¢.

29.

RR.

8- | AFVR

Nalanda is located

A) near Patna, in Bihar B) near Varanasi, in Uttar Pradesh

C) near Baroda, in Gujarat D) near Bhopal, in Madhya Pradesh
TTeieT A9 THA TR

A) TR T, qret Sige B) 3T YeX HeY, TRV Sac

C) T ALl JSial 7l D) Heg Yo &, AU STacd
Pulses are a good source of

A) carbohydrates B) fats

C) proteins D) vitamins
FHSI Tl ITH T4 IR,

A) Feiceh B) TE C) IIeA D) Sia e
In electrical field, ‘AC’ stands for ?

A) Alternating Current B) Average Current

C) Atomic Current D) Aggregate Current

Torgga forsrffean IH™E AC” I Efared TreaT=n @i tedeh! ol 319 o1Te.
A) Alternating Current

B) Average Current

C) Atomic Current

D) Aggregate Current

In computer science, how many bits make a byte ?

A) 4 B) 8 C) 16 D) 32
TTuTeh fomed, ferdt fore, sge aom staTa ?
A) 4 B) 8 O 16 D) 32

The “home page” of a web site is

A) The largest page B) The last page

C) The first page D) The most colorful page
EERIECAC I LS i 3.

A) Tatd 713 IH B) Y& UH

C) ufeet M D) Tatd Tfid a=
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30. ‘DTP’ computer abbreviation usually means

31.

2.

32.

3R.

33.

33.

34.

A) Digital Transmission Protocol B) DeskTop Publishing
C) Data Type Programming D) Document Type Processing

. TTUERTEY ST BT 3168 JTETS] STIeT STl

A) fefsea grofism memmia B) S&EHe(d T I=11T
C) 1 25T TAITHT D) Sierque T59 T

P.T. Usha, who came close to bagging a bronze medal, finished fourth in
Olympics.

A) 400 m final B) 800 m final C) 400 m hurdle D) the marathon

1. A, 3, S Fi-21 e I isees TR 8idl, diH 1984 T i el ey =T
SHHTeh JehTael.

A) 400 |t 37| B) 800 HI Ad®  C) 400 Ht g D) HUeH

, in 1984

The blood pressure of a young male human being is

A) 100/60 B) 120/80 C) 150/100 D) 160/110
TET FATATA JEI=I ThaTs 1.

A) 100/60 B) 120/80 C) 150/100 D) 160/110

The scientist who first discovered that the earth revolves round the sun was
A) Newton B) Copernicus C) Dalton D) Einstein

geft gEtad fhed e afeeaer sy ATaum I

A) <A B) ShIwere C) STeed D) 3B

The function of a dynamo is

A) To convert heat energy into light energy

B) To convert light energy into heat energy

C) To convert mechanical energy into electrical energy

D) To convert electrical energy into mechanical energy

3Y. SRHEHT I HR

A) 37 39 TeRTRT ToRTuT 3T TUTaT ohi0T
B) WehT3T ToRTuT Ii= 3907 Ioid HITAL H0T

C) Tfreh 3t fargga 3oTa S9TaL ol

o x MaN o d
D) [Agld Sol= dlHen 3oid wYldL Yl
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4.

36.

3&.

37.

3.

38.

3.

39.

R

-10- | AFVR

Which Bank has the maximum number of branches ?
A) State Bank of India B) HDFC Bank
C) ICICI Bank D) Bank of India

IV seheaT Hid ST I 3R 7
A) VI €22 sk (T2 seh 3ATh gfea)
B) U= € UF Hl sl
C) I T A= H} 3T 5k
D) sl ATH gl
There are four roads. I have come from the south and want to go to the temple. The road

to the right leads me away from the coffee house; straight ahead it leads only to a college.
In which direction is the temple ?

A) East B) West C) North D) South
IR T AR, HI S&fIURgH AT ST HAT S8 T IR, I9Td eI Tl Hell il

BTHETT foeg, foRM B ST, Tes T hictsl ohe ST, T 33,63 hITcT (eIl STE 7
A) T B) g C) IM D) afaor

A husband and wife had five married sons and each of these had four children. How
many members are there in the family ?

A) 12 B) 17 C) 22 D) 32

TohT SIS T TR Id et TTed ST T TeehTell 9TR ol HATed . T Fgamed T fohdt
e HTed ¢

A) 12 B) 17 C) 22 D) 32

Sheela is older than Meena, Kamini is as old as Nalini. Nitu is younger than Sindhu, who
is as old as Nalini; Meena is older than Kamini. Which Girl is oldest of all ?

A) Sheela B) Meena C) Nalini D) Kamini

fteT AT e Wit SR, et e = el 1. g Ry ven otem oR, fe et =
TrERi 3T, W1 I YT Hidt 311 T |aid Hidt Gl v 7

A) fier B) #H C) aferft D) e

If the fourth day of the month falls one day before Sunday, what day will fall on the
eleventh day of the same month ?

A) Monday B) Wednesday C) Friday D) Saturday

e = feag teem=an v feam smeft 3t = Aig=d s7etren feag i ?
A) HHIR B) JEK C) IEFAER D) ¥IHaR
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40. A is father of B, C is daughter of A. Of the following, what is the likely relation between

41.

¥2.

42.

¥R.

43.

%3.

44.

¥¥.

45.

¥4,

Band C?
A) Father and daughter B) Brother and Sister
C) Husband and Wife D) Uncle and Niece
VAR T I AR, F AW YA AR, W A F Hefid A w7
A) FETA ATI0T et B) 9T SATfUT SIfgor
C) Tl AT It D) hiehT AT W=l
The command to ask the computer to put information in order numerically or alphabetically
A) Crop B) Report C) Record D) Sort
TATIRTAT STERTIIHTO ST SHCHISEIhal HIfgd! SUATETR! ShIVId] FHHTS SaTd ¢
A) i B) fae C) i D) @i
Citrl, Shift and Alt are called as ______ keys.
A) Adjustment B) Function C) Modifier D) Alphanumeric
Ctrl, Shift 31T Alt I 1 TEUTT.
A) Tgsiene  B) BRN C) HISHRT D) 3Tehgie
The number of districts in Maharashtra State is
A) 23 B) 36 C) 39 D) 45
Tewre Tsamefid foreen g
A) 23 B) 36 C) 39 D) 45
When was Maharashtra State formed ?
A) 1947 B) 1950 C) 1955 D) 1960
HBR[b {Isd enocal dd{ <l ?
A) 1947 B) 1950 C) 1955 D) 1960
Number of members in the Maharashtra Vidhan Sabha is
A) 543 B) 288 C) 298 D) 308
TR faera T fond wew oTRa 7
A) 543 B) 288 C) 298 D) 308
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46.

¥&.

47.

48.

<.

49.

¥R.

50.

12- | AFVR

Who was the first Indian to go into space ?

A) Ravi Malhotra B) Satish Dawan
C) Kalpana Chawla D) Rakesh Sharma
ST SITUMR Ufeet TRAT v ?

A) WiHegE  B) gdmigdd  C) weuiaEdl D) Thw IHi

The hardest substance available on earth is

A) Gold B) Iron C) Diamond D) Platinum
. g o IUAsY STEIAT Fad Uk Uared shivT ¢
A) 1 B) & C) & D) widH
The filament of an electric bulb is made of
A) tungsten B) nichrome C) graphite D) iron
oI s < freiiee F9TT R el 3 7
A) TTEH B) M C) UTHREeS D) &g
Potassium Permanganate is used for purifying drinking water, because
A) it is an oxidising agent B) it dissolves the impurities of water
C) it is a reducing agent D) it is a sterilising agent

ITOT I3, FOATHTS TIEIREH THITHE < AT ohell STl Shiol
A) T AT RIS TSe 311 B) @I qToaTeEfiel STYEAT hiedl
C) N ISHI Tee 3R D) a1 LA TSI 3R

Enormous energy release happens in an atomic explosion due to

A) conversion of chemical energy into heat energy
B) conversion of mechanical energy into nuclear energy
C) conversion of mass into energy

D) conversion of neutrons into protons

. 317 ToRITHE, AT 311 Gk IV R0 e el dohl 3T

A) TETEIF 37 30 ISHEY TG B0
B) Fifeh 3911 210] 3THE IR 21ov
C) IEIAMT ISHE FUTA B9

D) g2i~ = e A&l T &I07
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SECTION — II (W13t faream= 31)

51. Ffeeauo tsha=Ht 1o vse forer.

A) g B) @t C) Tag
52. @reft feciea S saifad sreamn swrerted sfieEr.
TTe! SHId e ohietl 3TTeAl.
INEEIEETUI B) 3R C) T

D) uug

D) &R

53. T HTSTAT IT0i STeAd) AT STeRITd 1T TR g Yeereit farverdt 3T .

B) et

A) qdrT C) GcaHl

D) =rqgeff

54, Ht gFST ST AT AT AR HHET ST 3168 v ¢

A) B) 9Tl C) &

55 “ferdeh forehe @aal . (SR @)

A) HHuft B) Thdsh hdll  C) 3ThHeh shadl
56. Tarsror &t SreeTelt ShIv ! ST 38 7

INREIEEA B) fo&rt C) 3T
57. HoB ITSSTAT SFThLUTTd hd FRUIATA ¢

A) St B) faekdt C) T
58. TSI {3 TUTH daeieic] €9 FeUIS| d ¢

A) TTe8 B) W& C) &R
59. 30, ¥, G IET 6™ TR 7

A) 39 B) ITOT C) aut
60. ‘e &1 HIUAT 9t AT STTal ?

A) TR B) =M C) Toaaal
61. ‘AT A AT . (TN ATe3al)

A) it B) wadl C) W

D) raedt

D) 9&

D) farsgerft

D) T

D) aui

D) ¥

D) gaul

D) 3TeRHeh hadl

62. 3TE Hehe AT fe Had T | ST a9TTd STR Jfeereh a1 =Tl | — TR 3T .

B) AU C) 3=t

A) ER

D) 37T
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63.

64.

65.

60.

67.

68.

69.

70.

71.

72.

73.

74

14- | AFVR

F1vehTe F13T | Ud BT Gitet] arel |
TR TR0 T | SHTET 385k 3 ||

T 1T e I 1T AT IS B2 3T .
A) 3T B) 319 C) I D) 3TAHR

AT A9 AT | AT SR ATR1, RIS AT Il hied TohR AT T,

A) Fad B) fm C) g D) &8l

TN BR 863 9TAd, TShaTioreIS o TR ies.
A) T&EEE  B) fdlames C) hIclaTh D) uRHTvET

‘HIcToha’ THTET=IT TohR T5E].

A) ST EE  B) Iwlcwkge  C) wgull D) safreR
‘T’ 1 Yoe b= Yehr 3T,

A) <=ft B) &M C) dgvd D) TRATST
IV IR IR ITEATT ¢

A) Rrgg B) @t C) 3y D) T

A SadMT Shivrd fom—s <= ?

A) Ui form B) 3fefform C) WeufeR™ D) WHfeg
TR I I STIEEA shetel FHETY THEH T8UIS! IV i 7

A) IS B) 3T C) Sqacred D) HEdseiEd
ot 7 FrevaTE e g A1 AT RATIRTE YRR STl

A) IFafa S RRISED C) I D) HTaehdeh
‘@fud’ o femanfersreor=n Jerr vt ?

A) TTHRGEH  B) ThREEH C) Tyt D) fedrfaesie
AYRTEd vrear=n 314 Aiew. ‘TGamsh sredd d foree’

A) o s/ B) el IEd 3T

C) St D) &S

‘Fuur 31 v1egrE faregeneff vree v ?

A) 3EX B) = C) Tia D) 31
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75.

76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

‘IeTgYl TR e S HIeSEl.

A) TH B) fasiwor
C) XA = D) fsramg
JUTTET SR Y01 HUATETS! ST Had AT ARTd 7
A) T B) =S C) & D) 37&R

Td T 9 T S M1 h T 7

A) JUHTEAT B) &l C) JIRrEel D) ge&1eR

AT TIESIeRL0T SHI0TR IS © 371
A) TR B) 3TefEn C) AT D) &

forerm. e LU=l |TEH hIvId 7

A) SO B) wm C) 9R=H D) g
FHicrddicr Higd e FEUS &1 7

A) TETEYT B) TEW C) died D) TeHTe
ot Tt ferfeal’” =i aerrren St JqekTes hivra ?

A) # Fey forfea @ B) i fee feafeem =i

C) H ey forfea g D) i fsiy forfeen

ST TShITIETeT F ShH STRTATd 3T3TT TShaTaeTedT h1 FRUIATd ¢

A) Il B) gfied C) faams D) Uil

ST YT §H YR FIVId 7

A) HIT 39T 9 A-GH 39T B) ST et

C) S 79 319 D) U o A1 A9
TSI T I ] faet e 3R

A) THRA™ B) fasrsm C) YEa=eA™ D) aiqeTea T
A) qud B) =& C) & D) fergmT

T -foare fermfers .
A) @amfes B) smmmuife C) wdluifae D) we s
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87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

-16-
“srfiren’ € e SRt AR 7

A) T B) vreere C) ST
‘e U1 UhaTd I8 Ui sl W e,

A) ‘IR B) &R C) Wi
‘ARG AT AR — AR TR HTSET.

A) 3UHT B) €% C) 3=
THTERAY TG ST , THREUT 1 eIG ~ShTe = T[0T 3BT,
A) T8 B) TTegd C) I
TR ITATE go 19 § 1.

A) I8 B) IEAYEH C) Uil

HY 3TTS GG -hTehe | Gloct - TG ToRIN0T Yo 1@
A) FEETeE B) eqHTe C) TR

q 3 Tohar 7 3 o} STUE - ST YRR AT,

A) I ST B) foehemdigsd  C) <dcd A1eeh

ST | hacTIT Tl ST STTRR ATSET.

A) GaEAeRi  B) HHERIH C) fatiuesis

‘O GHETET Yh R 3Tedl.

A) foit B) FHURH C) HeaHTeAdl
It O srEuT=E § . T ofiesan.

A) IR B) wded C) YR
TS S AeAT. - ki HATBEl.

A) T B) @ C) 31Ul
1 @R SeTd — foramoeT= &9 siiea.

A) hIU B) 31Ul C) 9@

ToReTIToTTER ot e AATTett - fshaTdaT= Jerrt 3Tiead.
FNRERED B) WY& fhaUE  C) HhHb

fURReTetT ST STTEEAl — 4Tq STl
A) U B) A& C) 3rE=al

JTHHT
D) Fuif=it
D) 8=
D) v
D) 3T

D) Y™

D) SRS
IDREEENED

D) vl aeqes
D) I

D) {dl

D) &g

D) W&

D) el
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SECTION - III (English Subject Knowledge)

101. Choose the correct suffix to complete the following word —

102.

103.

104.

105.

106.

107.

108.

109.

110.

I11.

favour
A) ate B) ete

O) ite D) iate

Choose the correct option to fill in the blank :

The little girl tried to
A) condole B) condone

33

her brother when he broke his toy.
C) console D) compensate

Knowing that he was a convict, I didn’t allow him to enter my house. Identify the

underlined clause.
A) Adjective clause
C) Noun clause

B) Adverb clause
D) None of the above

Which one of the following is not a plural noun ?

A) mice B) cattle

C) oxen D) goose

Choose the correct opposite of ‘disparity’.

A) brotherhood B) equality

C) diversity D) fraternity

Which one of the following is not figures of speech ?

A) metaphor
C) elegy

B) personification
D) oxymoron

Choose the correct meaning of ‘pragmatic’.

A) theoretical  B) realistic

Choose the correct word.

C) productive D) suitable

She was a religious lady, but her son was
C) unreligious D) philosopher

A) pious B) an atheist

Use the correct prepositions.

Finding myself short money, [ wrote my uncle
C) in, to, to D) of, to, for

A) with, to, for B) of, to, about

Choose the word that is spelt correctly.

A) Bureaucracy
C) Beaurocracy

It was a very fine morning.

B) Boreucracy
D) Bureocracy

Which is the exclamatory form of the above sentence ?

A) What was the fine morning !
C) The morning was very fine !

B) How fine was the morning !
D) What a fine morning it was !

help.
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

18- | AFVR

Which one of the following words is not an adverb ?
A) frequently B) always C) happy D) fast

Choose the sentence in perfect past tense.
A) She has been writing a letter B) She had been writing a letter
C) She had written a letter D) She has written a letter

Choose the correct alternative to fill in the blank.

Ram is than Lakshman.
A) elder B) older C) eldest D) oldest

Choose the correct option to fill in the blank.

If you make promise, you must be sure to it.
A) accomplish B) keep C) follow D) succeed

Choose the correct question form of —
I love watching other play.
A) Did I love watching other play ?
B) Does I love watching other play ?
C) Who love watching other play ?
D) Do I love watching other play ?

Choose the correct part participle of ‘steal’.
A) stealed B) stole C) stolen D) steat

State the type of tense :

‘He scored 1286 goals’
A) simple present tense B) simple past tense
C) perfect present D) perfect past tense

What is the opposite of ‘sweet’ ?
A) bitter B) sour C) yummy D) crunchy

Find the odd word from the followings.
A) screech B) crash C) honk D) foul

Which one of the following is not a ‘preposition’ ?
A) through B) into C) but D) between
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122. Choose the correct sentence from the following.

123.

124.

125.

126.

127.

128.

129.

130.

A) The train left before we reached the station

B) The train will leave before we reached the station
C) The train had left before we reached the station

D) The train was leaving before we reached the station

Choose appropriate form of the verb to fill in the blank.

She in America since 1995.

A) lives B) is living

C) have been living D) has been living
Which one of the following suffix is not a class changing suffix ?

A) — ment B) — ness C) — hood D) -1y
Fill in the blanks with the correct option.
I am very busy today, we can go out tomorrow.

A) fortunately B) certainly C) perhaps D) obviously

Choose the meaning of the word ‘posthumous’
A) postal B) after-death  C) creditable D) literary

Fill in the blanks with correct options :

Mahatma Gandhi was very simple and innocent, his behaviour was
A) childish B) child like C) humble D) proud

Choose the correct alternative of :
Shivaji was the greatest king

A) No other king was as great as Shivaji
B) Very few kings were as great as Shivaji
C) Shivaji was greater than himself

D) Shivaji was more greater than kings

Use the correct preposition of :

What are you talking

A) of B) for C) about D) none of them
Choose correct alternative :

I am afraid | attend the meeting.

A) can B) can’t C) could D) couldn’t
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131. Use the appropriate article to fill in the blank.

France is European country.
A) a B) an C) the D) no article

132. Write an adjective form of ‘distinction’.
A) distinctive  B) distinctly C) distinctness D) distinctives

133. Choose the correct form of verb ‘liberty’.

A) libertine B) liberation C) liberality D) liberate
134.*You are hitting him below the belt’, ‘to hit below the belt’ means

A) to criticise B) to denounce

C) to attack unfairly D) beat with the belt

135. Choose the correct word for the underlined words in the sentence :

Smallpox is a disease which is commonly acquired from others.
A) infectious B) contagious C) parasitic D) communicative

136. What is meaning of the word ‘aroma’ ?
A) a good smell B) odour C) warm D) strong

137. Find out the odd word from the followings :
A) rattle B) twitter C) squawk D) chatter

138. Choose the adjective form of ‘magic’.
A) magestic B) magical C) magician D) musical

139. Choose the correct spelling from the followings.
A) assasination B) assassination
C) assination D) assassnation

140. Use the correct word and fill in the blank :

Indians living in foreign countries are cultured.
A) The few B) Few C) Short D) A few

141. Which is the passive form of ?

Give me hundred rupees.

A) Hundred rupees are given me
B) I was given hundred rupees

C) Let me be given hundred rupees
D) Let I was given hundred rupees
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142. Choose the correct question tag form and fill in the blank :

I genius person.
A) amn’t B) am C) aren’t D) are

143. What is the type of underlined part of sentence — clause ?
When I was seven years old, I overheard it

A) noun clause B) adjective clause
C) adverb clause D) none of them

144. What is the underlined part of sentence ?

Though he is fat, he runs fast.
A) simple sentence B) compound sentence
C) complex sentence D) complex-compound

145. What is the opposite of ‘off” ?
A) down B) on C) in D) into

146. Rearrange the jumbled parts of the sentence in proper sequence.
P — most of the students
Q — was so confusing that
R — the teachers explanation
S — didn’t understand it

A) PQRS B) PQSR C) RQPS D) PSRQ
147. Choose the correct verb form.

She ran because she in a hurry.

A) is B) was C) must be D) could be
148. Choose the correct option to fill in the blank.

She is the only to her father’s property.

A) hare B) hair C) here D) heir

149. Pick out the correct question tag.

You will call me as soon as you reach home,
A) will you ? B) won’t you ? C) don’t you ? D) do you ?

150. Choose the correct alternative.
I am writing a letter to
A) a friend of me B) a friend of myself
C) a friend of ourself D) a friend of mine

33
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151.

gLz,

152.

guR.

153.

g43.

154.

Y.

155.

2.

22- | AFVR

SECTION -1V (Mathematics Subject Knowledge)

One of the four angles of a parallelogram is 65°. Then the measure of its adjacent angle is
A) 65° B) 90° C) 115° D) 25°

TR ST 1o M1 TR hIFTIeh! ThT ShiFTe AT 65° 3T, T T ST TRIAAT ST HIT

Tordll o721 318 ?

A) 65° B) 90° C) 115° D) 25°
6/7
— — 9
By how much does 773 exceed g
1 3 3 1
6— 6 7= 7=
A) g B) 4 O 4 D) g
O 1 7 Nor ety et e 7
7/8 8 '
1 3 3 1
06— 6= 7= 7—
A) b3 B) 6 0 75 D) 74
: .. : : 1 23 i .
If ¥ 782 is to be divided into three parts, proportional to 55 : 1 then the first part is
A) 3182 B) ¥ 190 C) X 196 D) 204
. 1 2 34 . ~ )
SR X 782 T 9T forsATet ST6aT oI TUIRR 5131 FHed T Ofee= AT fohmd fohdll 7
A) 3182 B) ¥ 190 C) X 196 D) X204
A number is selected from numbers 1 to 27. The probability that it is prime number is
N 2 o L o L o 2
) 3 ) 6 ) 3 ) 9
1 27 Gt Teh g faeet sreat. o g Joaen Juar ST fohd 7
A) 2 B) - 0 + D) -
) 3 ) 6 ) 3 ) 9

Following marks were obtained by 12 students in a mathematics test :
21, 20, 25, 5, 10, 15, 30, 12, 7, 16, 9, 22

The range of the marks is

A) 20 B) 25 O) 21 D) 7

T =it wherd 12 et arefier oo 7T et sted
21,20, 25, 5, 10, 15, 30, 12, 7, 16, 9, 22
T ITOT 07 FRATET S,

A) 20 B) 25 O 21 D) 7
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156.

guE.

157.

4.

158.

L.

159.

guR.

160.

g&o.

161.

g&%.

When 10 is subtracted from a number and the remainder is taken 16 times, we get the
number 544. Find the number.

A) 24 B) 34 C) 44 D) 54
TSh GG 10 TSI hed R Steiedl] G 16 T2 ohall STEdT 544 1 =eR fHezal, - ot §ea 2.
A) 24 B) 34 C) 44 D) 54

The ages of Kadar, Ali and Hafij are in the ratio 2 : 3 : 4. Ali’s age is 15 years. What are
the ages of Kadar and Hafij ?

A) 12 years and 24 years B) 20 years and 10 years

C) 10 years and 15 years D) 10 years and 20 years

TS, ST S THIS AT AT UM 2 2 3 : 4 3TR. IefTel 9 15 TN 76 T H1eL AT EThIS
Il 9 fehdt ?

A) 12 a9 afor 24 a9 B) 20 &y 1o 10 91

C) 10 =¥ 37for 15 99 D) 10 99 37IfUT 20 98

If a job is to be finished in 36 days instead of 60 days, how many times the original
number of labourers should be employed ?

A)% B)% C)% D)%
@R &M 60 foaanast 36 feaamed gl wee o, W o3 TR fohdl 92 SR
AT ShTH e AT 2

4

3 5 5
A)E B)Z C)E D)g

If diagonals of a quadrilateral are perpendicular to each other, then the type of
quadrilateral is

A) Parallelogram B) Rectangle C) Square D) None of these
SR SR Tl U1 TohHehHT T1el STEd e aX T T eh I TalT JehR 0T ?
A) GHIR 41 9l B) ™A
C) =™ D) It ATel
The simple interest of some principal for 2 years is X 1,250. Then, the simple interest of
the same principal for 5 years will be ¥ ?
A) 500 B) 1,253 C) 3,125 D) Cannot be determined
TSh! YT 2 T (A1) T AN T 1,250 3R, T T JagaT 5 INHaL o =1l feheft ?
A) T 500 B) T 1,253 0) T 3,125 D) 1] S1ehd ATel
97 + 32 =32 + 97 is an example of
A) Commutative property B) Associativity property
C) Closure property D) Distributive property
97 +32 =32+ 97 T WelcTushl v 3T TR 7
A) AT T B) <R U
C) TER fareft fomam D) ferawor orerd
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162.

2&R.

163.

¢&3.

164.

¢RY.

165.

28R4,

166.

¢&&.

24- | AFVR

How many percent of X 5 is 90 paise ?
A) 12 B) 14 C) 16 D) 18
90 U8 FEUSI X 5 < Tohelt ook 7
A) 12 B) 14 C) 16 D) 18
The measure of ZABC of a rhombus ABCD is 100°.Then what is m ZBDC ?
A) 60° B) 40° C) 45° D) 50°
THYS " ABCD A& 519 ZABC = 100° 378 T W19 £BDC =
A) 60° B) 40° C) 45° D) 50°
If x is an odd number, which of the following numbers is even ?
A) 2x + 3 B) 2x +5 C) 2x-3 D) 2x +4
S x & forom T 3, T @A Taieh! shivTd ! §edT 91 1R 7
A) 2x +3 B) 2x+5 C) 2x-3 D) 2x + 4
If the base of a triangle is doubled and the height remains the same, then new area will be
A) 2 times B) 3 times C) 4 times D) None of these
TehT RN I 71 SEeTdT AT GEUe Shell TR AR SV 6] BRI §arhel -1 frehior=n

ATHATAT T 192 3T 7

A) T B) fatoe C) e D) TRl ATt

{7 ABCD is a rhombus and its diagonals intersect each other at point E. If / (AC) =8 cm
and / (BD) = 6 cm, find [ (AB).
D C
E
A B
A) 8cm B) 7cm C) 4cm D) 5cm

THYS = ABCD < vl ThHEMT E foigd 8aam S I(AC) = 8 GHI 371101 /(BD) = 6 HHl &

I(AB) =
D C

A B
A) 8T B) 7 &l C) 45+ D) 5§
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167.

¢8R,

168.

g&L.

169.

2&R.

170.

2o,

171.

20%.

172.

2R

If the number ‘21x5’° is a multiple of 9, where ‘x’ is a digit, what is the value of ‘x” ?
A) 6 B) 3 Cc o D) 1
SR 21x5° & | 9 <t Uik T 8T 9 X 7 UG A q X < fohwa foheft 7
A) 6 B) 3 C o0 D) 1
Which of the following trinomial has the factors (5x — 1) and (6x + 1) ?
A) 1-x2+30x2 B) 30x2+x-1 C)30x2+x+1 D) 30x2-x-1
(5x — 1) 3107 (6x + 1) B =hivTean o ST 311 ?
A) 1-x2+30x2 B) 30x2+x-1 C)30x2+x+1 D)30x2—x-1
The multiplicative inverse of (x +y)isz. Ifz=8andy =-2, thenx = ?
A 17 B S o V7 oy -8
) 8 ) 17 ) 8 ) 17
(X +y) = TUTERR T 2 TR Sz = § ATMN y = — 2 A WX = ?
17 8 Ry _8
A) 8 B) 17 © 8 D) 17
The population of a city increases by ‘x’ every year. It will be ‘b’ after ‘a’ years. Find the

present population of the city.
A) ab B) b—ax C) ax D) a-b

T TR ARG ! X 7 aTed. S “a’ 9L oI et AisEEd b’ i e a
T e T AlehEE fond] ?

A) ab B) b —ax C) ax D)a-b

30*

A) 62 B) 6% C) 5% x 62 D) 52 x 6%

30*

A) 62 B) 64 C) 5?2 x62 D) 52 x 64

P is a positive rational number such that 1000 x P < 1000. Which of these could be P ?
A L B) 2 o) 121 D) There i h number P

) D ) 1 ) 1 ) There is no such number
P & o 0 g 233t 312 Y, 1000 x P < 1000. T P =i fohma shiowd ?
11 12 1 )
N B) 17 0 12 D) PHTEI HIUATRT 3 TTel
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173.

93.

174.

29¥.

175.

k.

176.

8.

177.

290,

26- | AFVR

(-p) - @)=

A) p*+2pq + ¢? B) p*-2pq +¢?
C) - (p)* -2pq-q> D) - (p)* - 2pq + ¢
(-p) - g’ =

A) p?+2pq +¢° B) p*-2pq +¢?
C) - (p)? - 2pq - ¢ D) - (p)? - 2pq + ¢?

Sadu’s average marks in 5 subjects were 60.6. His total marks in the remaining two subjects
were 173. Find his average marks of all the subjects.

A) 68 B) 66 C) 65.6 D) 64.6

TG 5 T e 7701 60.6 3172 . ered 3 o= ur=h s’ 173 31R. o o= ad
T ToT=h T T foRet B ¢
A) 68 B) 66 C) 65.6 D) 64.6

The price of a novel is 20% more than the price of a drama book. By how many percent
is the price of the drama book less than that of the novel ?

2
A) 10 B) 165 C) 20 D) 25

TehT SATCHeh JedehTel! fohAT TehT TTeehT=al JEehT=T TohHdTUET 20% SR 3T, A ATeshT=T
kT fohmd ATcHe: JeaehT=a fohw! defT fohet ZoepaT el o18d 7

2
A) 10 B) 165 C) 20 D) 25

Sum of two numbers is 17 and the difference between them is 7, then find their product.
A) 66 B) 70 C) 72 D) 60

SR 3H G SRS 17 3 Wi Weh 7 36, 0 1 3H G&aT= TUehR bt 318 ?
A) 66 B) 70 C) 72 D) 60

Given only two diagonals, which of the following quadrilaterals can be drawn ?
A) Rectangle B) Rhombus C) Kite D) Parallelogram

S e S hUT fad 3TEdT Wit icTdeh] hIvldT SiehId shiedT I ¢
INESIRG B) §HYSIARRA  C) aT D) THT S Slh
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178.

29¢

179.

LR,

180.

Lo,

181.

(AR

182.

LR,

Which of the following is not a polynomial ?
1
M) 2xi+x B -TmaSm ) PP+ D) Ja+42b
GTATATh] VT TgUal AT 7
1
A28 +x B -Tmesm O e D) Sa+2b
After giving 10 % discount, the selling price of a shirt is I 450. Then the market price of
the shirt is X
A) 495 B) 460 C) 500 D) 490
10% G2 Taeamat Tent 31eat foshl forra 450 %, B1d T o 31d= ! Il (4e8) Tehwa fort 7
A) X 495 B) X 460 C) X 500 D) X 490
The volume of a sphere with 21 mm radius will be cubic cm.
A) 38808 B) 3880.8 C) 338.08 D) 38.808
21 /. Ht. B e Mar g% @3,
A) 38808 B) 3880.8 C) 338.08 D) 38.808

The sum of two numbers is 96 and their difference is 24. Find the ratio of the numbers.

A 4:1 B)4:5 C)1:4 D) 5:3

TH T SR 96 9 ATWETE ek 24 318 X T §H ST T SN ?
A) 4:1 B) 4:5 C)1:4 D) 5:3

7. 17 1

707 :F,thenX:?

A) 24 B) - 10 C) 10 D) None of these

1
7 +77= o5, Wx=2?

A) 24 B) - 10 C) 10 D) ekl ATE
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183.

LR,

184.

LY.

185.

qLh.

186.

LR,

187.

LEACK

28- | AFVR

If x = 3y = 2p = 4, find the value of 9xy2 — 3yp
A) 72 B) 24 C) 30 D) 56
SR x = 3y = 2p = 4, 3T, W 9xy2 — 3yp = hAd et
A) 72 B) 24 C) 30 D) 56
Volume of a cube is 216 cc. So area of one surface of a cube = cm?.
A) 36 B) 72 C) 18 D) 24
TehT BT T 216 cc(HHY)3 3R, T o ST Uah! TSS9 &%l = (|T)2
A) 36 B) 72 C) 18 D) 24
If a polynomial is divided by (x + 3), quotient is (x — 2) and remainder is — 7. Then the
polynomial is
A x2—x+1 B)x?+x-13 O) x*+x+1 D) x2—x + 13
SR TehT SIEUEH (x +3) = 9ISl STEAT AR (x — 2) F S1eh! —7 fiesd aX ot sigeral shivrd ?
A) x2-x+1 B)x*+x-13 C) x*+x+1 D) x2—x + 13
The radius of a circle with centre ‘O’ is 6 cm. Point P lies on the plane of the circle. If
[ (OP) = 4.5 cm, find the position of P with respect to the circle.
A) On the circle B) In the interior of the circle
C) In the exterior of the circle D) Cannot be concluded definitely
‘O’ BT hEIeIg ITHUTAT I T=l 31 6 HHT TR P21 felg aqes= Jaaier 378, SR [ (OP) = 4.5 &
A, W GBS g P forgel worH Ffea &,
A) TeTT TETaR B) dqesr=a sauima
C) T SR D) TrH fAfvera & 3eha et
th
If an article 1s sold for X 95, the profit is equal to 1 of the loss that occurs on selling the

same article for ¥ 60. Find the cost price of that article.
A) X770 B) ¥ 80 C)X7T5 D) 90

Q%mﬁzﬁ%mﬁwmﬁwwﬁanﬁmmmﬁmmmmw%w
TR T T HIfeehr= fohud smie.
A) 270 B) % 80 C) %75 D) 290
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188.

2L,

189.

(SAY

190.

gRo.

191.

gR%.

192.

2R3,

The area of a square is equal to the area of an equilateral triangle with 2 cm side. Then

each side of the square will be cm.

A) V2 B) ? 0 3 D) J\3
T SIRYTS &%hes 2 HH SIS STHUAT HHYS HehIVIT=AT &1%hes] Tae 3T, T = RAT=A1 Jdh
EISCINIERET RSl i

A) V2 B) ? 0 3 D) V3

Factorise : a® — b®

A) (a—b)° B) (a3 — b’)?

0) (a% - b?)3 D) (a+Db) (a—b) (a2 —ab + b?) (a® + ab + b?)
IS ITST : a0 — bO

A) (a—b)° B) (a’ - b%)?

O) (a2 - b?)3 D) (a+Db) (a—b) (a2 ab + b?) (a® + ab + b?)
If 2 =5 x 5" =4 = 5_then the value of n is

A) 2 B) 3 Q) 4 D) 5
25 x 504 = 5 3@ 0 n <A fhAq fordt ?

A) 2 B) 3 Q) 4 D)5
a4 _ b4 —

A) (a-b)* B) (a2+b?) (a+b)(a—b)

C) (a2 — b?)? D) (a +b)2 (a—b)?
at — bt =

A) (a-b)* B) (a2+b?)(a+b)(a—Db)

C) (a2 - b?)? D) (a+b)? (a—Db)?
Which of the following options represents the number 2.83333 ..... correctly ?

83 = — 283

A) 2705 B) 2.83 C) 2.83 D) 1o

WTehieTdeh! ThIuTdT T feetedt a8 2.83333 ... ggteral ?
83 = — 283
A) 2755 B) 2.83 C) 2.83 D) {05

Clerk/Steno/Stenotypist



33 30- | AT
193. In AABC, line DE || side BC

[(AD) =6, (DB) =8

[ (AE) =9, [ (EC) =

A
6 9
< D E >
B C
A) 6 B) 8 C) 9 D) 12

9%3. AABCW=d,WWDE || 9] BC
[(AD)=6, [ (DB)=8
I(AE) =9, I(EC) =

A
6 9
< D E >
B C
A) 6 B) 8 C)9 D) 12
4a® —12ab+9b’
=9
194. a3
A) 2a+3b B) 2a+b C) 2a-3b D) 2a—4b
2 2
9%, 4a“—12ab+9b _ 9
2a-3b
A) 2a+ 3b B) 2a+b C) 2a-3b D) 2a — 4b

195. The length and breadth of a room are 5 m and 3 m respectively. If tiles of dimensions
25 cm x 25 cm are to be fitted on the floor of the room, how many tiles will be required ?
A) 480 B) 120 C) 240 D) 180
9RY. TR GIcTTE! AATe STM0T &l gt 5 HY & 3 H} 371", SR 25 Tt x 25 TH AT ST8ciedT Hea
G W= JI9d Tl ST fohd | BT AFTAIA ¢
A) 480 B) 120 C) 240 D) 180
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196.

¢RE.

197.

2R,

198.

gR¢.

199.

2RR.

200.

The area of a trapezium is 100 mZ. If the sum of its parallel sides is 50 m then, its height
is equal to
A) 4m B) 6 m C) 8m D) 10 m
T TS b &%e 100 (H1)2 TR, SR gHia Jee sl 50 H 378, @ a0
<R 3=t feheT 378 7
A) 41 B) 6Hi C) 8#i D) 10 ©t
Which of the following values are equal ?
(P) 14 (Q) 40 (R) 0 (S) 41
A) Pand Q B) Qand R C) PandR D) Pand S
WA TeTtehT shTvTea fehAdt T 3TTRd 7
(P) 1 (Q) 4 (R) 0* (S) 41
A) PaAToTQ B) QATUIR C) PaTfoTR D) Pa3mfurs
Find the value of P, if the median of following observations is 48

14,17,33,35,P-5,P+7,57, 63, 69, 80.
The above observations are in ascending order.
A) 45 B) 47 C) 49 D) 51

Tectoa gmefi=n gedTeh 48 319 o€ P =i fohma .
14,17,33,35,P-5,P+ 7, 57, 63, 69, 80.
I HTSUT Tecdl ShHM hoiai! 3712,

A) 45 B) 47 C) 49 D) 51
GCD of 54 and 1x 6 is 18. Find the second number.
A) 106 B) 116 C) 126 D) 136
SR 54 37107 1x 6 =T .97, 18 o8, aX gudt | .
A) 106 B) 116 C) 126 D) 136
5.,
e
A) 3.75 B) 0.75 C) 0.375 D) 0.0375
3,
8

A) 3.75 B) 0.75 C) 0.375 D) 0.0375
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